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= 1 43, 772, 320
AR B
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185 AR R
= 1 43, 772, 320
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FA AV Ha BUE D A
ifi 0 13,622, 313 0
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ifi 1 13, 529, 803 13, 529, 803
LR WAL H R BUAE D F
i} 0 9, 953, 266 0
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-3- ELARims  Abkizhh )y 80w &




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
A2 & AR R
= 1 7,123
BRI MR G S AT —4E
D%
= 1 5, 000
it T
i LA, EiEA
= 1 103, 021
HimEp R (FE L)
= 1 1,163,173
Wi
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= 1 4,626,413
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= 1 44, 010, 024
AR B
= 1 44, 010, 024
185 AR R
= 1 44, 010, 024
e B 52 T Ak Fa BUE D A
i} 1 8, 558, 833 8, 558, 833
FA AV Fa BUE D A
ifi 1 13,622, 313 13, 622, 313
LR WAL H R BAE D Fr
i} 1 9, 953, 266 9, 953, 266
IRE BT Ha BUE D A
ifi 1 11, 875, 612 11, 875, 612
Pias HLR R
= 1 44, 010, 024
ERd
= 1 6,763, 628
AR L
= 1 6, 649, 459
R A B E L
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BER R M R% 6 i
= 1 1, 505, 230
[
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